
Find the square of each integer.

98
2 = 2

2 = 13
2 = 69

2 =

53
2 = 3

2 = 73
2 = 72

2 =

522 = 552 = 382 = 92 =

912 = 82 = 782 = 772 =

362 = 502 = 892 = 172 =

53
2 = 92

2 = 25
2 = 62

2 =

84
2 = 97

2 = 84
2 = 99

2 =

762 = 432 = 332 = 212 =
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Find the square of each integer.

98
2 = 9604 2

2 = 4 13
2 = 169 69

2 = 4761

53
2 = 2809 3

2 = 9 73
2 = 5329 72

2 = 5184

522 = 2704 552 = 3025 382 = 1444 92 = 81

912 = 8281 82 = 64 782 = 6084 772 = 5929

362 = 1296 502 = 2500 892 = 7921 172 = 289

53
2 = 2809 92

2 = 8464 25
2 = 625 62

2 = 3844

84
2 = 7056 97

2 = 9409 84
2 = 7056 99

2 = 9801

762 = 5776 432 = 1849 332 = 1089 212 = 441
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